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Use  CAPITAL LETTERS in the heading using a 2H pencil. Characters  must be similar in style and size to  the following:
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                          Write only in the allotted space. Grading will be based on neatness and organization as well as accuracy. Messy work will not be graded.
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 (676.2)  The fifth term of the sequence
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2. (676.12) Simplify the factorial 
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(676.18) Find the sum 
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(676.15) Write in sigma notation:  
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(676.18) Find the sum of the infinite series:  
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6. (676.28) Find an for the arithmetic sequence a7 =8, a13=6.  
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7. [image: image19.wmf](
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(676.31) Find the sum of the first 100 positive multiples of 7.         

8. (676.38) In the first two trips baling hay around a large field, a farmer obtains 123 bales and 112 bales, respectively.  Because each round gets shorter, the farmer estimates that the same pattern will continues. Estimate the total number of bales made after the farmer takes another six trips around the field.                                                                     
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9. (676.63) A paper manufacturer buys a machine for  $120,000. During the next 5 years, it will depreciate at a rate of 30% per year. (In other words, at the end of each year the depreciated value will be 70% of what it was at the beginning of the year).  Find the formula 
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for the nth term of a geometric sequence that gives the value of the machine t full years after it was purchased.                                                                     

10. (676.76) Given the term of the sequence, state whether the sequence has a perfect linear model, a perfect quadratic model or neither:  a1 =-3,   an = an-1  - 2n                                                                    
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11. Evaluate 
[image: image7.wmf]÷

÷

ø

ö

ç

ç

è

æ

4

10

.                                                                     

12. (607) Find the general term of the sequence whose first five terms are: 
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13. (608) The 4th term of the sequence defined recursively as  
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14. (620) Find the 16th partial sum of the arithmetic sequence 100, 95, 90, 85, 80, ….                                    
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15. (630) An investor deposits $50 on the first day of each month in an account that pays 3% interest, compounded monthly. What is the balance at the end of 2 years?         
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16. (9.2.77)  Determine the sitting capacity of a classroom  with 30 rows of seats if there are 20 seats in the first row, 24 seats in the second row, 28 seats in the third row, and so on.
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17. (9.3.62)  Find the sum of the finite geometric series: 
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18. Given the data, find f(2.5) using a third degree Newton’s forward  interpolating polynomial (show all steps). 
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19. (6.4.72) Find a quadratic model for the sequence      
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20. (624) A steel ball with negligible air resistance is dropped from an airplane. The distance that the ball falls during each of the first four seconds after it is dropped is: 4.9 m, 14.7 m, 24.5 m, 34.3 m. If you assume the pattern continues, find  the total distance the ball falls in the first 10 seconds.
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21. (6.3.99) A heavy object is pulled 30 ft across a floor, using a force of 100 pounds. The force is exerted at an angle of 500 above the horizontal. Find the work done.  
22.  The moment of the 100 lb force about the hinge A is 
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 Find the moment’s scalar component parallel to the axis of the hinges.
23.   A surveyor measures the location of point A and determines that  . He wants to determine the location of a point B so that    What are the cartesian coordinates of point B?                              
Note: There are two possibilities: Point B lies west of point A, or lies east  of point A, as shown.

Hint: Draw OB to form a triangle.
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